

## Subordination and Superordination Results Associated with a Linear Operator <sup>1</sup>

Yong Sun, Wei-Ping Kuang

### Abstract

In the present paper, we derive some subordination and superordination results associated with a linear operator. Several sandwich-type results involving this operator are also proved.

**2000 Mathematics Subject Classification:** 30C45.

**Key words and phrases:** Analytic functions; Hadamard product (or Convolution); Subordination and superordination between analytic functions; Dziok-Srivastava operator.

## 1 Introduction

Let  $\mathcal{A}$  denote the class of functions of the form:

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$

which are *analytic* in the *open* unit disk

$$\mathbb{U} := \{z : z \in \mathbb{C} \text{ and } |z| < 1\}.$$

Let  $\mathcal{H}(\mathbb{U})$  be the linear space of all analytic functions in  $\mathbb{U}$ . For a positive integer number  $n$  and  $a \in \mathbb{C}$ , we let

$$\mathcal{H}[a, n] := \{f \in \mathcal{H}(\mathbb{U}) : f(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots\}.$$

---

<sup>1</sup>Received 1 April, 2009

Accepted for publication (in revised form) 23 September, 2009

Denote by  $Q$  the set of all functions  $f$  that are analytic and injective on  $\overline{\mathbb{U}} \setminus E(f)$ , where

$$E(f) = \left\{ \varepsilon \in \partial\mathbb{U} : \lim_{z \rightarrow \varepsilon} f(z) = \infty \right\},$$

and such that  $f'(\varepsilon) \neq 0$  for  $\varepsilon \in \partial\mathbb{U} \setminus E(f)$ . The subclass of  $Q$  for which  $f(0) = a$  ( $a \in \mathbb{C}$ ) is denoted by  $Q(a)$ .

Let  $f, g \in \mathcal{A}$ , where  $f$  is given by (1.1) and  $g$  is defined by

$$g(z) = z + \sum_{k=2}^{\infty} b_k z^k.$$

Then the Hadamard product (or convolution)  $f * g$  of the functions  $f$  and  $g$  is defined by

$$(1.2) \quad (f * g)(z) := z + \sum_{k=2}^{\infty} a_k b_k z^k =: (g * f)(z).$$

For two functions  $f$  and  $g$ , analytic in  $\mathbb{U}$ , we say that the function  $f$  is subordinate to  $g$  in  $\mathbb{U}$ , and write

$$f(z) \prec g(z) \quad (z \in \mathbb{U}),$$

if there exists a Schwarz function  $\omega$ , which is analytic in  $\mathbb{U}$  with

$$\omega(0) = 0 \quad \text{and} \quad |\omega(z)| < 1 \quad (z \in \mathbb{U})$$

such that

$$f(z) = g(\omega(z)) \quad (z \in \mathbb{U}).$$

Indeed, it is known that

$$f(z) \prec g(z) \quad (z \in \mathbb{U}) \implies f(0) = g(0) \quad \text{and} \quad f(\mathbb{U}) \subset g(\mathbb{U}).$$

Furthermore, if the function  $g$  is univalent in  $\mathbb{U}$ , then we have the following equivalence:

$$f(z) \prec g(z) \quad (z \in \mathbb{U}) \iff f(0) = g(0) \quad \text{and} \quad f(\mathbb{U}) \subset g(\mathbb{U}).$$

For complex parameters

$$\alpha_j \in \mathbb{C} \quad (j = 1, \dots, l), \quad \beta_j \in \mathbb{C} \setminus \mathbb{Z}_0^- \quad (\mathbb{Z}_0^- := \{0, -1, -2, \dots\}; j = 1, \dots, m),$$

the generalized hypergeometric function  ${}_lF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z)$  is given by

$$(1.3) \quad {}_lF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) := \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \cdots (\alpha_l)_n z^n}{(\beta_1)_n \cdots (\beta_m)_n n!}$$

$$(l \leq m + 1; l, m \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}; \mathbb{N} := \{1, 2, \dots\}; z \in \mathbb{U}),$$

where  $(v)_k$  is the Pochhammer symbol defined by

$$(v)_0 = 1 \quad \text{and} \quad (v)_k = v(v+1) \cdots (v+k-1) \quad (k \in \mathbb{N}).$$

Corresponding to a function  $h(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z)$ , defined by

$$(1.4) \quad h(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) := z {}_lF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z),$$

Dziok and Srivastava [1, 2, 3](see also [4, 5, 6]) considered a linear operator:

$$H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m) : \mathcal{A} \longrightarrow \mathcal{A},$$

defined by the following Hadamard product:

$$(1.5) \quad H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)f(z) := h(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) * f(z)$$

We note that the linear operator  $H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)$  includes other linear operators which were introduced and studied in [7, 8, 9] and so on.

Corresponding to the function  $h(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z)$ , defined by (1.4), we introduce a function  $h_\lambda(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z)$  ( $\lambda > 0$ ) given by

$$(1.6) \quad h(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) * h_\lambda(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) = \frac{z}{(1-z)^\lambda}.$$

Analogous to the Dziok-Srivastava operator  $H(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)$ , Kwon and Cho [10] defined a new linear operator  $H_\lambda(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)$  on  $\mathcal{A}$  as follows:

$$(1.7) \quad H_\lambda(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m)f(z) := h_\lambda(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) * f(z).$$

For convenience, we write

$$(1.8) \quad H_{\lambda,l,m}(\alpha_j) := H_\lambda(\alpha_1, \dots, \alpha_j, \dots, \alpha_l; \beta_1, \dots, \beta_m) \quad (j \in \{1, 2, \dots, l\}).$$

It is easily verified from the definition (1.7) that

$$(1.9) \quad z(H_{\lambda,l,m}(\alpha_j + 1)f)'(z) = \alpha_j H_{\lambda,l,m}(\alpha_j)f(z) - (\alpha_j - 1)H_{\lambda,l,m}(\alpha_j + 1)f(z),$$

and

$$(1.10) \quad z(H_{\lambda,l,m}(\alpha_j)f)'(z) = \lambda H_{\lambda+1,l,m}(\alpha_j)f(z) - (\lambda - 1)H_{\lambda,l,m}(\alpha_j)f(z).$$

We note that the operator  $H_{\lambda,l,m}(\alpha_1)$  was introduced and investigated recently by Kwon and Cho [10], they defined several new classes of analytic functions by using this operator and investigated various inclusion properties of these classes. In the present paper, we derive some subordination and superordination results of this operator  $H_{\lambda,l,m}(\alpha_j)$ . Several sandwich-type results involving this operator are also proved.

## 2 A Set of Lemmas

The following lemmas will be required in our proposed investigation.

**Lemma 1.** (See [11]) *Suppose that the function  $H : \mathbb{C}^2 \rightarrow \mathbb{C}$  for all real  $s$  and for all*

$$t \leq -\frac{n(1+s^2)}{2} \quad (n \in \mathbb{N})$$

*satisfies the condition  $\Re(H(is, t)) \leq 0$ . If the function*

$$p(z) = 1 + p_n z^n + p_{n+1} z^{n+1} + \dots$$

*is analytic in  $\mathbb{U}$  and*

$$\Re(H(p(z), zp'(z))) > 0 \quad (z \in \mathbb{U}),$$

*then*

$$\Re(p(z)) > 0 \quad (z \in \mathbb{U}).$$

**Lemma 2.** (See [12]) *Let  $\kappa, \gamma \in \mathbb{C}$  with  $\kappa \neq 0$  and let  $h \in \mathcal{H}(\mathbb{U})$  with  $h(0) = c$ . If*

$$\Re(\kappa h(z) + \gamma) > 0 \quad (z \in \mathbb{U}),$$

*then the solution of the following differential equation:*

$$q(z) + \frac{zq'(z)}{\kappa q(z) + \gamma} = h(z) \quad (z \in \mathbb{U}; q(0) = c)$$

*is analytic in  $\mathbb{U}$  and satisfies the inequality given by*

$$\Re(\kappa q(z) + \gamma) > 0 \quad (z \in \mathbb{U}).$$

**Lemma 3.** (See [13]) *Let  $p \in Q(a)$  and*

$$q(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots \quad (q \neq a; n \in \mathbb{N})$$

*be analytic in  $\mathbb{U}$ . If  $q$  is not subordinate to  $p$ , then there exists two points*

$$z_0 = r_0 e^{i\theta} \in \mathbb{U} \quad \text{and} \quad \xi_0 \in \partial\mathbb{U} \setminus E(f)$$

*such that*

$$q(\mathbb{U}_{r_0}) \subset p(\mathbb{U}), \quad q(z_0) = p(\xi_0) \quad \text{and} \quad z_0 q'(z_0) = m \xi_0 p'(\xi_0) \quad (m \geq n).$$

A function  $P(z, t)$  ( $z \in \mathbb{U}$ ;  $t \geq 0$ ) is said to be a subordination chain if  $P(., t)$  is analytic and univalent in  $\mathbb{U}$  for all  $t \geq 0$ ,  $P(z, 0)$  is continuously differentiable on  $[0, \infty)$  for all  $z \in \mathbb{U}$  and  $P(z, t_1) \prec P(z, t_2)$  for all  $0 \leq t_1 \leq t_2$ .

**Lemma 4.** (See [14]) *The function  $P(z, t) : \mathbb{U} \times [0, \infty) \rightarrow \mathbb{C}$  of the form*

$$P(z, t) = a_1(t)z + a_2(t)z^2 + \dots \quad (a_1(t) \neq 0; t \geq 0),$$

*and  $\lim_{t \rightarrow \infty} |a_1(t)| = \infty$  is a subordination chain if and only if*

$$\Re \left( \frac{z \partial P / \partial z}{\partial P / \partial t} \right) > 0 \quad (z \in \mathbb{U}; t \geq 0).$$

**Lemma 5.** (See [15]) *Let  $q \in \mathcal{H}[a, 1]$  and  $\phi : \mathbb{C}^2 \rightarrow \mathbb{C}$ . Also set*

$$\phi(q(z), zq'(z)) \equiv h(z) \quad (z \in \mathbb{U}).$$

*If  $P(z, t) := \phi(q(z), tzq'(z))$  is a subordination chain and  $p \in \mathcal{H}[a, 1] \cap Q(a)$ . Then*

$$h(z) \prec \phi(p(z), zp'(z)) \quad (z \in \mathbb{U})$$

*implies that*

$$q(z) \prec p(z) \quad (z \in \mathbb{U}).$$

*Furthermore, if  $\phi(q(z), zq'(z)) = h(z)$  has a univalent solution  $q \in Q(a)$ , then  $q$  is the best subordination.*

### 3 Main Results

We first give the following subordination result.

**Theorem 1.** *Let  $f, g \in \mathcal{A}$  and  $\lambda > 0$ . If*

$$(3.1) \quad \Re \left( 1 + \frac{z\psi''(z)}{\psi'(z)} \right) > -\delta \quad \left( z \in \mathbb{U}; \psi(z) := \frac{H_{\lambda+1,l,m}(\alpha_j)g(z)}{z} \right),$$

where

$$(3.2) \quad \delta := \frac{1 + \lambda^2 - |1 - \lambda^2|}{4\lambda},$$

then the following subordination relationship

$$\frac{H_{\lambda+1,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda+1,l,m}(\alpha_j)g(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the function  $\frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z}$  is the best dominant.

*Proof.* Let us define the functions  $\mathcal{F}$  and  $\mathcal{G}$  by

$$(3.3) \quad \mathcal{F}(z) := \frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z}, \quad \mathcal{G}(z) := \frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z}.$$

We here assume, without loss of generality, that  $\mathcal{G}$  is analytic and univalent on  $\overline{\mathbb{U}}$  and

$$\mathcal{G}'(\zeta) \neq 0 \quad (|\zeta| = 1).$$

If not, then we replace  $\mathcal{F}$  and  $\mathcal{G}$  by  $\mathcal{F}(\rho z)$  and  $\mathcal{G}(\rho z)$ , respectively, with  $0 < \rho < 1$ . These new functions have the desired properties on  $\overline{\mathbb{U}}$ , and we can use them in the proof of our result. Therefore, our results would follow by letting  $\rho \rightarrow 1$ .

We first show that if the function  $\mathcal{Q}$  be defined by

$$(3.4) \quad \mathcal{Q}(z) := 1 + \frac{z\mathcal{G}''(z)}{\mathcal{G}'(z)} \quad (z \in \mathbb{U}),$$

then

$$\Re(\mathcal{Q}(z)) > 0 \quad (z \in \mathbb{U}).$$

In view of (1.10) and the definitions of  $\mathcal{G}$  and  $\psi$ , we know that

$$(3.5) \quad \psi(z) = \mathcal{G}(z) + \frac{1}{\lambda} z\mathcal{G}'(z).$$

Differentiating both sides of (3.5) with respect to  $z$ , we get

$$(3.6) \quad \psi'(z) = \left(1 + \frac{1}{\lambda}\right) \mathcal{G}'(z) + \frac{1}{\lambda} z\mathcal{G}''(z).$$

After some simple calculations, in conjunction with (3.4) and (3.6), we easily get the following relationship:

$$(3.7) \quad 1 + \frac{z\psi''(z)}{\psi'(z)} = \mathcal{Q}(z) + \frac{z\mathcal{Q}'(z)}{\mathcal{Q}(z) + \lambda} := (z) \quad (z \in \mathbb{U}).$$

We also deduce from (3.1) and (3.7) that

$$(3.8) \quad \Re((z) + \lambda) > 0 \quad (z \in \mathbb{U}).$$

Furthermore, by Lemma 2, we conclude that the differential equation (3.7) has a solution  $\mathcal{Q} \in \mathcal{H}(\mathbb{U})$  with

$$(0) = \mathcal{Q}(0) = 1.$$

Let us put

$$(3.9) \quad H(u, v) := u + \frac{v}{u + \lambda} + \delta,$$

where  $\delta$  is given by (3.2). From (3.1), (3.7) and (3.9), we obtain

$$\Re(H(\mathcal{Q}(z), z\mathcal{Q}'(z))) > 0 \quad (z \in \mathbb{U}).$$

Now we proceed to show that

$$(3.10) \quad \Re(H(is, t)) \leq 0 \quad \left(s \in \mathbb{R}; t \leq -\frac{1 + s^2}{2}\right),$$

Indeed, from (3.9), we have

$$\Re(H(is, t)) = \Re\left(is + \frac{t}{is + \lambda} + \delta\right) = \frac{t\lambda}{|\lambda + is|^2} + \delta \leq -\frac{\Psi(\lambda, s)}{2|\lambda + is|^2},$$

where

$$(3.11) \quad \Psi(\lambda, s) := (\lambda - 2\delta)s^2 - 4\delta\lambda s - 2\delta\lambda^2 + \lambda.$$

For  $\delta$  given by (3.2), the coefficient of  $s^2$  in the quadratic expression  $\Psi(\lambda, s)$  given by (3.11) is positive or equal to zero. Furthermore, we observe that the quadratic expression  $\Psi(\lambda, s)$  by  $s$  in (3.11) is a perfect square, which implies that (3.10) holds. Thus, by Lemma 1, we conclude that

$$\Re(\mathcal{Q}(z)) > 0 \quad (z \in \mathbb{U}),$$

that is,  $\mathcal{G}(z)$  by (3.3) is convex.

To prove  $\mathcal{F} \prec \mathcal{G}$ , we let the function  $P(z, t)$  be defined by

$$(3.12) \quad P(z, t) := \mathcal{G}(z) + \left(\frac{1+t}{\lambda}\right) z\mathcal{G}'(z) \quad (z \in \mathbb{U}; 0 \leq t < \infty),$$

since  $\mathcal{G}$  is convex and  $\lambda > 0$ , we have

$$\frac{\partial P(z, t)}{\partial z} \Big|_{z=0} = \mathcal{G}'(0) \left(1 + \frac{1+t}{\lambda}\right) \neq 0 \quad (z \in \mathbb{U}; 0 \leq t < \infty),$$

and

$$\Re\left(\frac{z \partial P(z, t) / \partial z}{\partial P(z, t) / \partial t}\right) = \Re(\lambda + (1+t)\mathcal{Q}(z)) > 0 \quad (z \in \mathbb{U}).$$

Therefore, by Lemma 4, we obtain that  $P(z, t)$  is a subordination chain. It follows from the definition of subordination chain that

$$\psi(z) = \mathcal{G}(z) + \frac{1}{\lambda} z\mathcal{G}'(z) = P(z, 0),$$

and

$$P(z, 0) \prec P(z, t) \quad (z \in \mathbb{U}; 0 \leq t < \infty),$$

which implies that

$$(3.13) \quad P(\zeta, t) \notin P(\mathbb{U}, 0) = \psi(\mathbb{U}) \quad (\zeta \in \partial\mathbb{U}; 0 \leq t < \infty).$$

If  $\mathcal{F}$  is not subordinate to  $\mathcal{G}$ , by Lemma 3, we know that there exist two points  $z_0 \in \mathbb{U}$  and  $\zeta_0 \in \partial\mathbb{U}$  such that

$$(3.14) \quad \mathcal{F}(z_0) = \mathcal{G}(\zeta_0) \quad \text{and} \quad z_0 \mathcal{F}'(z_0) = (1+t)\zeta_0 \mathcal{G}'(\zeta_0) \quad (0 \leq t < \infty).$$

Hence, by virtue of (1.10) and (3.14), we have

$$\begin{aligned} P(\zeta_0, t) &= \mathcal{G}(\zeta_0) + \frac{1+t}{\lambda} \zeta_0 \mathcal{G}'(\zeta_0) = \mathcal{F}(z_0) + \frac{1}{\lambda} z_0 \mathcal{F}'(z_0) = \\ &= \frac{H_{\lambda+1, t, m}(\alpha_j) f(z_0)}{z_0} \in \psi(\mathbb{U}). \end{aligned}$$

But this contradicts to (3.13). Thus, we deduce that  $\mathcal{F} \prec \mathcal{G}$ . Considering  $\mathcal{F} = \mathcal{G}$ , we see that the function  $\mathcal{G}$  is the best dominant. The proof of Theorem 1 is evidently completed.  $\square$



By similarly applying the method of proof of Theorem 1 and using (1.9), we easily get the following result.

**Corollary 1.** *Let  $f, g \in \mathcal{A}$ ,  $\lambda > 0$  and  $\Re(\alpha_j + 1) > 0$ . If*

$$\Re \left( 1 + \frac{z\varphi''(z)}{\varphi'(z)} \right) > -\eta \quad \left( z \in \mathbb{U}; \varphi(z) := \frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z} \right),$$

where

$$(3.15) \quad \eta := \frac{1 + |\alpha_j + 1|^2 - |1 - (\alpha_j + 1)^2|}{4\Re(\alpha_j + 1)},$$

then the following subordination relationship

$$\frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda,l,m}(\alpha_j + 1)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j + 1)g(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the function  $\frac{H_{\lambda,l,m}(\alpha_j+1)g(z)}{z}$  is the best dominant.

If  $f$  is subordinate to  $F$ , then  $F$  is superordinate to  $f$ . We now derive the following superordination result.

**Theorem 2.** *Let  $f, g \in \mathcal{A}$  and  $\lambda > 0$ . If*

$$\Re \left( 1 + \frac{z\psi''(z)}{\psi'(z)} \right) > -\delta \quad \left( z \in \mathbb{U}; \psi(z) := \frac{H_{\lambda+1,l,m}(\alpha_j)g(z)}{z} \right),$$

where  $\delta$  is given by (3.2), also let the function  $\frac{H_{\lambda+1,l,m}(\alpha_j)f}{z}$  is univalent in  $\mathbb{U}$  and  $\frac{H_{\lambda,l,m}(\alpha_j)f}{z} \in Q$ , then the following subordination relationship

$$\frac{H_{\lambda+1,l,m}(\alpha_j)g(z)}{z} \prec \frac{H_{\lambda+1,l,m}(\alpha_j)f(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the function  $\frac{H_{\lambda,l,m}(\alpha_j)g(z)}{z}$  is the best subdominant.

*Proof.* Suppose that the functions  $\mathcal{F}$  and  $\mathcal{G}$  are defined by (3.3),  $\mathcal{Q}$  is defined by (3.4). By applying the similar method as in the proof of Theorem 1, we get

$$\Re(\mathcal{Q}(z)) > 0 \quad (z \in \mathbb{U}).$$

Next, to arrive at our desired result, we show that  $\mathcal{G} \prec \mathcal{F}$ . For this, we suppose that the function  $P(z, t)$  be defined by (3.12). Since  $\lambda > 0$  and  $\mathcal{G}$  is convex, by applying the similar method as in Theorem 1, we deduce that  $P(z, t)$  is subordination chain. Therefore, by Lemma 5, we conclude that  $\mathcal{G} \prec \mathcal{F}$ . Furthermore, since the differential equation

$$\psi(z) = \mathcal{G}(z) + \frac{1}{\lambda} z \mathcal{G}'(z) := \phi(\mathcal{G}(z), z \mathcal{G}'(z))$$

has a univalent solution  $\mathcal{G}$ , it is the best subordination. We thus complete the proof of Theorem 2.  $\square$

By similarly applying the method of proof of Theorem 2 and using (1.9), we easily get the following result.

**Corollary 2.** *Let  $f, g \in \mathcal{A}$ ,  $\lambda > 0$  and  $\Re(\alpha_j + 1) > 0$ . If*

$$\Re\left(1 + \frac{z\varphi''(z)}{\varphi'(z)}\right) > -\eta \quad \left(z \in \mathbb{U}; \varphi(z) := \frac{H_{\lambda, l, m}(\alpha_j)g(z)}{z}\right),$$

where  $\eta$  is given by (3.15), also let the function  $\frac{H_{\lambda, l, m}(\alpha_j)f}{z}$  is univalent in  $\mathbb{U}$  and  $\frac{H_{\lambda, l, m}(\alpha_j+1)f}{z} \in \mathcal{Q}$ , then the following subordination relationship

$$\frac{H_{\lambda, l, m}(\alpha_j)g(z)}{z} \prec \frac{H_{\lambda, l, m}(\alpha_j)f(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda, l, m}(\alpha_j + 1)g(z)}{z} \prec \frac{H_{\lambda, l, m}(\alpha_j + 1)f(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the function  $\frac{H_{\lambda, l, m}(\alpha_j+1)g(z)}{z}$  is the best subdominant.

Combining the above mentioned subordination and superordination results involving the operator  $H_{\lambda, l, m}(\alpha_j)$ , we get the following ‘‘sandwich-type result’’.

**Corollary 3.** *Let  $f, g_k \in \mathcal{A}$  ( $k = 1, 2$ ) and  $\lambda > 0$ . If*

$$\Re\left(1 + \frac{z\psi_k''(z)}{\psi_k'(z)}\right) > -\delta \quad \left(z \in \mathbb{U}; \psi_k(z) := \frac{H_{\lambda+1, l, m}(\alpha_j)g_k(z)}{z} \quad (k = 1, 2)\right),$$

where  $\delta$  is given by (3.2), also let the function  $\frac{H_{\lambda+1,l,m}(\alpha_j)f}{z}$  is univalent in  $\mathbb{U}$  and  $\frac{H_{\lambda,l,m}(\alpha_j)f}{z} \in Q$ , then the following subordination relationship

$$\frac{H_{\lambda+1,l,m}(\alpha_j)g_1(z)}{z} \prec \frac{H_{\lambda+1,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda+1,l,m}(\alpha_j)g_2(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda,l,m}(\alpha_j)g_1(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)g_2(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the functions  $\frac{H_{\lambda,l,m}(\alpha_j)g_1}{z}$  and  $\frac{H_{\lambda,l,m}(\alpha_j)g_2}{z}$  are, respectively, the best subordinant and the best dominant.

**Corollary 4.** Let  $f, g_k \in \mathcal{A}$  ( $k = 1, 2$ ),  $\lambda > 0$  and  $\Re(\alpha_j + 1) > 0$ . If

$$\Re \left( 1 + \frac{z\varphi_k''(z)}{\varphi_k'(z)} \right) > -\eta \quad \left( z \in \mathbb{U}; \varphi_k(z) := \frac{H_{\lambda,l,m}(\alpha_j)g_k(z)}{z} \quad (k = 1, 2) \right),$$

where  $\eta$  is given by (3.15), also let the function  $\frac{H_{\lambda,l,m}(\alpha_j)f}{z}$  is univalent in  $\mathbb{U}$  and  $\frac{H_{\lambda,l,m}(\alpha_j+1)f}{z} \in Q$ , then the following subordination relationship

$$\frac{H_{\lambda,l,m}(\alpha_j)g_1(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j)g_2(z)}{z} \quad (z \in \mathbb{U})$$

implies that

$$\frac{H_{\lambda,l,m}(\alpha_j + 1)g_1(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j + 1)f(z)}{z} \prec \frac{H_{\lambda,l,m}(\alpha_j + 1)g_2(z)}{z} \quad (z \in \mathbb{U}).$$

Furthermore, the functions  $\frac{H_{\lambda,l,m}(\alpha_j+1)g_1}{z}$  and  $\frac{H_{\lambda,l,m}(\alpha_j+1)g_2}{z}$  are, respectively, the best subordinant and the best dominant.

### Acknowledgements

The present investigation was supported by the *Scientific Research Fund of Huaihua University* and the *Scientific Research Fund of Hunan Provincial Education Department* under Grant 07C507 of People's Republic of China.

**References**

- [1] J. Dziok and H. M. Srivastava, *Classes of analytic functions associated with the generalized hypergeometric function*, Appl. Math. Comput. 103, 1999, 1-13.
- [2] J. Dziok and H. M. Srivastava, *Some subclasses of analytic functions with fixed argument of coefficients associated with the generalized hypergeometric function*, Adv. Stud. Contemp. Math. 5, 2002, 115-125.
- [3] J. Dziok and H. M. Srivastava, *Certain subclasses of analytic functions associated with the generalized hypergeometric function*, Integral Transforms Spec. Funct. 14, 2003, 7-18.
- [4] J.-L. Liu and H. M. Srivastava, *Certain properties of the Dziok-Srivastava operator*, Appl. Math. Comput. 159, 2004, 485-493.
- [5] R. Aghalary and G. H. Azadi, *The Dziok-Srivastava operator and  $k$ -uniformly starlike functions*, J. Inequal. Pure Appl. Math. 6, 2005, Article 52, (electronic).
- [6] Z.-G. Wang, Y.-P. Jiang and H. M. Srivastava, *Some subclasses of multivalent analytic functions involving the Dziok-Srivastava operator*, Integral Transforms Spec. Funct. 19, 2008, 129-146.
- [7] B. C. Carlson and D. B. Shaffer, *Starlike and prestarlike hypergeometric functions*, SIAM J. Math. Anal. 15, 1984, 737-745.
- [8] S. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc. 49, 1975, 109-115.
- [9] R. M. Goel and N. S. Sohi, *A new criterion for  $p$ -valent functions*, Proc. Amer. Math. Soc. 78, 1980, 353-357.
- [10] O. S. Kwon and N. E. Cho, *Inclusion properties for certain subclasses of analytic functions associated with the Dziok-Srivastava operator*, J. Inequal. Appl. 2007, 2007, Article ID 51079, pp. 1-10.
- [11] S. S. Miller and P. T. Mocanu, *Differential subordinations and univalent functions*, Michigan Math. J. 28, 1981, 157-171.
- [12] S. S. Miller and P. T. Mocanu, *Univalent solutions of Briot-Bouquet differential equations*, J. Differential Equations 56, 1985, 297-309.

- [13] S. S. Miller and P. T. Mocanu, *Differential Subordination: Theory and Applications*, Monographs and Textbooks in Pure and Applied Mathematics, Vol.225, Marcel dekker, New York and Basel, 2000.
- [14] C. Pommerenke, *Univalent fuctions*, Vanderhoeck and Rupercht, Göttingen, 1975.
- [15] S. S. Miller and P. T. Mocanu, *Subordinats of differential superordinations*, *Complex Var. Theory Appl.* 48, 2003, 815-826.

Yong Sun, Wei-Ping Kuang  
Department of Mathematics, Huaihua University,  
Huaihua 418008, Hunan, People's Republic of China.  
e-mail: sy785153@126.com